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1. (15%) 2, (THI S FEMPBRMEFE 0 - BRIt $E 1 X)

(1)  (3%) ( ) A process capability index (ratio) of 0.9 indicates that a process is
capable of producing to specification.

(2)  (3%) ( ) Process layouts are common in hon-manufacturing environments.

(3) (3%) ( ) Efficiency is defined as the ratio of actual output to effective
capacity.

(4)  (3%) ( ) Quality function deployment (QFD)is based on a set of matrices
that relate customer requirements to company capabilities.

(5)  (3%) ( ) Forecasting techniques that are based on time series data assume
that the future value of the series will duplicate past values.

2. (20 %)A firm is trying to decide among two location alternatives, A and B. A would
result in an annual fixed cost of $60,000. Labor cost of $7 per unit, material costs
of $10 per unit. transportation costs of $15 per unit, and revenue per unit of $50.
Location B will have annual fixed costs of $80,000, labor costs of $6 per unit,
material costs of $9 per unit, transportation costs of $14 per unit, and revenue per
unit of $48.

(1) (10%) At an annual volume of 9,000, which would you yield the higher profit?
(2)  (10%) At what annual volume would management be indifferent between
the two alternatives in terms of annual profits?

3. (15%) The utilization of a machine is 50%. The machine has a design capacity of 70

units per hour and an effective capacity of 60 units per hour. Find the efficiency of
the machine.
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From To| A B C D
A — 40 80 70
B = 40 50
C = 60
D —
RER EBR(EMAL/X)

From To|| 1 2 3 4

1 — 10 20 80

2 —_ 40 90

3 — 55

4 —
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